
Séquence de Nombres Linéaires (B)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 88 73 68 63 58 53 48Différence commune:2. 700 600 500 400 200 -100 -200Différence commune:3. 216 191 166 116 91 41 16 -9Différence commune:4. 108 58 8 -117Différence commune:5. 93 73 63 23 13Différence commune:6. 144 -56 -156 -356 -656Différence commune:7. 221 121 -79 -179 -279 -679Différence commune:8. 418 318 268 218 168Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (B) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 93 88 83 78 73 68 63 58 53 48Différence commune: -52. 700 600 500 400 300 200 100 0 -100 -200Différence commune: -1003. 216 191 166 141 116 91 66 41 16 -9Différence commune: -254. 108 83 58 33 8 -17 -42 -67 -92 -117Différence commune: -255. 93 83 73 63 53 43 33 23 13 3Différence commune: -106. 244 144 44 -56 -156 -256 -356 -456 -556 -656Différence commune: -1007. 221 121 21 -79 -179 -279 -379 -479 -579 -679Différence commune: -1008. 418 368 318 268 218 168 118 68 18 -32Différence commune: -50Mathslibres.com


